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Find the exact radius measure of the angle:

9- (a) 
[image: image2.wmf]°

150


*SOL*


[image: image3.wmf]p

¾

®

¾

°

180



[image: image4.wmf]p

p

833

.

0

180

150

150

=

=

¾

®

¾

°

x

x


(b) 
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11- (a) 
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(b) 
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Find the exact degree measure of the angle:
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b)
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c)
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b) 
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c) 
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Express 
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 in terms of degrees, minutes, and seconds, to the nearest second:
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2 radians = 
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If a circular arc of the given length s subtends the central angle 
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 on a circle, find the radius of the circle:

29 – s = 10 cm, 
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a) Find the length of the arc of the colored sector in the figure.

b) Find the area of the sector

31- 

*SOL*


[image: image38.wmf](

)

(

)

(

)

(

)

2

2

13

.

25

8

1440

8

45

2

1

)

280

.

6

2

360

45

8

)

cm

area

b

cm

r

arealength

a

=

=

=

=

=

=

°

=

=

=

p

p

q


a) Find the radian and degree measures of the central angle 
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 subtended by the given arc of length s on a circle of radius r.

b) Find the area of the sector determined by 
[image: image40.wmf]q

.

33- s=7cm, r=4cm
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a) Find the length of the arc that subtends the given central angle 
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 on a circle of diameter d.

b) Find the area of the sector determined by 
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.
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